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DIRECT AND

INVERSE PROPORTION

DIRECT PROPORTION

When one

as well

value increases
the other increases

Greater the
force greater
IS the extension
in the spring
produced.

I

| 4= R |
R = tongtont

INVERSE PROPORTION

When one value increases
other decreases

If pressure
increases volume
decreases

—

\30( _IE— R~ Conaonk.
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a) Write the proportional relation

b) Convert it into equation
using a constant k

C) Substitue the values to
work out k

d) Complete the equation

e) Use the equation to find
unknown values.

DIRECT PROPORTION

X is directly proportional
to the square of .
If x is 1000 y is 20.

a) Write the proportionality
equation

b) Work our the value
of xwhenyis 5

a is directily proportional to b. Ifais 7
b is 35.

a) Write the proportionality equation
b) Work out the value of b when

ais 21 r,h ( Ib

_-}:P...BE b-) 11‘;—%‘3
1=K
5
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a) Write the proportional relation

b) Convert it into equation
using a constant k

c) Substitue the values to
work out k

d) Complete the equation

e) Use the equation to find
unknown values.

DIRECT PROPORTION

X is directly proportional
to the square of v.
If x is 1000 y is 20.

a) Write the proportionality
equation

b) Work our the value
of xwhenyis 5

2= 2.9% 51
= 2.5X2S
= 62.'5'

2
11) 10{5 X
p = Rl;{
IDDD——P\XC?_GSL
R= 100D _
40D
= 2,5
X=2.5y"™*
)
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a) Write the proportional relation

S

b) Convert it into equation
using a constant k

c) Substitue the values to
work out k

d) Complete the equation

e) Use the equation to find
unknown values.

INVERSE PROPORTION

%

y is inversely proportional
to the cube of x

When y= 125, b= 0.1

Find the value of y when x is 0.25

a is inversely proportional to b.
lfais 10 bis 0.1.

a) Work out the proportionality
equation

b) Work out b when a is 100

Ol  O<R =R
b b ©.1
R<1
0’) h-_1 La) 100 =
b b= CLD]
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a) Write the proportional relation

b) Convert it into equation
using a constant k

c) Substitue the values to
work out k

d) Complete the equation

e) Use the equation to find
unknown values.

INVERSE PROPORTION

y is inversely proportional
to the cube of x

When y= 125, b= 0.1

Find the value of y when x is 0.25

| j: D.125
3

H—_ 0.8

D.25?

<
:)L3
= K
1‘.‘:
12 5 = hk____
(o1
R:llgx&ﬁ
= 0.1295
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Q3 To make a red cookie

you require 20 g of flour and 60 of sugar.
If you have 360 g of sugar how much flour
will you need.

Q1 To make 20 Flapjacks, 200 g of Flour is required.
How much flour is needed to make 30 Flapjacks.

—

Q2 If 20 m wire cost $30 how much will 25 m
wire cost ?
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PROPORTION WORD PROBLEMS

Q1 To make 20 Flapjacks, 200 g of Flour is required.
How much flour is needed to make 30 Flapjacks.

F[DTO\LkS = [~lowy
70 = 20D
*1.5 D)&I.s
3D = 3{30
Q2 If 20 m wire cost $30 how much will 25 m
wire cost ? . )
NUE'L = FJ'{.LLL
2o C ‘;“DM = $3D
L Im —» 30 23.50

X25 2.0 - s,
C 25m ——— RA2S=5

Q3 To make a red cookie

you require 20 g of flour and 60 of sugar.
If you have 360 g of sugar how much flour
will you need.

Sugax = Floun
o 2.0
%Gn()
| — 20
xe C 6o

&DB — _E\_:%SCD
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